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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

When he walked down a street, people turned to look at him even oftener than they turned to look
at Marco, and the boy felt as if it was not merely because he was a big man with a handsome, dark
face, but because he looked, somehow, as if he had been born to command armies, and as if no
one would think of disobeying him. Yet Marco had never seen him command anyone, and they had
always been poor, and shabbily dressed, and often enough ill-fed. But whether they were in one
country or another, and whatsoever dark place they seemed to be hiding in, the few people they
saw treated him with a sort of deference, and nearly always stood when they were in his presence,
unless he made them sit down.

1) What did people do in the man's presence?

A) Kept standing TeChOfWO rld . I n

)
B) Move away
C) Push him out
D) Work hard

2) Which of the following qualities suit the man?

A) Charismatic
B) Authoritarian
C) Tender

D) Cunning

3) The --=-=---- people they saw treated him with deference?
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4) How were Marco and the man dressed?

A
B
C
D

Royally
Shabbily
Commonly
Disguised

— S S S

5) Which of the following characteristics describe the man?

6) Fill in the blank with the correct option:

Eating is considered good for eyes.

nar  Techofworld.In
B) carat

C) karat

D) caret

7) Which of the following alternative is the meaning of the phrase "black something out"?

A) to cheat somebody completely
B) to turn out lights completely

C) to colour somebody in black
D) to enlighten somebody

8) Fill in the blank with correct prefix or suffix:

While climbing a hill, a bus

turned killing 5 passengers.
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9) Which of the following words is correctly spelt?

A) exaggerating
B) exagerating
C) exaggarating
D) ecsaggerating

10) Which is the meaning of the phrase "Bull in China shop"?

A) One who is clumsy and awkward TeCh OfWO rI d . I n

B) One who is damaged from within
C) One whose warranty cannot be given
D) One who bullies others without reason
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Minamata Disease in humans is caused due to consumption of fish contaminated with a certain
element. The name of the element is

A) Mercury
B) Cadmium
C) Arsenic
D) Lead

11) aeaiq RIAIGI saia ve da aaiair a6 A°QTE A1 HIRQIQ seinard | 63T aarieda AIA 6208

v | @chofworld.In

B) quiefian
C) aiedfa
D) @il

12) Which among the following maintains the link between state government at the district level?

A) The Collector

B) Mayor

C) District Magistrate
D) Chief Secretary

12) FANGE AIQ @ GRI A6 ARY AQRAT IR NF AR QYRS 7

A) fqae

B) 6n0a

C) P ANL6IS
D) 78 a1a@ ade

13) The Certificate of Vocational Education Examination (CVE - 12) has been created as an
examination, in accordance with the recommendations of -

A) NCERT
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C) CICSE
D) MHRD
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13) veis gaIae |69, @ AG6e 2 6NERARIA IR6ar YQITEAAR (38a - €9) @ 0AISl AINEA AR FAIAGE -

A) ¥edaed
B) d&va@

C) Quedwa
D) ANQ2IRE

14) In 1988, this became a recognized part of the Secondary Curriculum

A) Technical education
B) Value education

C) Vocational education
D) ICT education

14) e¢rr 6@, 921 ARIAR ACIRAQ IR JIQEYIY 2ra 62al

A) RIR91 aITeCh OfWO I"l d . I n

B) gaue@e aa
C) dRIee &al
D) 2103 dal

15) The 1993 MHRD Yashpal Committee Report was titled

A) Learning Without Stress
B) Learning Without Exams
C) Learning Without Fear

D) Learning Without Burden

15) ¢c e adeica 99 4Q 2IQ @ aaain ¢AF dsaida ade vl aal

A) QI QIa6a dgQl
B) A9l gQIIea Sl
C) 9%l 606Q S¢Sl

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF)

Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

Section 3 - Paperl-Reasoning
No. of Questions: 5

16) How many letters are there in between 16th alphabet from the left and 6th alphabet from the left,
when letters are arranged as per the alphabetical order?

A) 5
B) 6
C)9
D) 12

16) 6a60696@ maq@a QAR QAR ARIAIN, QIAQ €9 6N Q4 Y QINQ 8 @4 AYEa CREVIT 2a0 AEQ ?

»s | echofworld.In

B) »
C) ¢
D) e9

17) In a certain code language, if the word NATIVE is coded as EVITAN, then how will the word
COUNTRY be coded in that language?

A) YRTNUOC
B) YTRUNCO
C) YURTNCO
D) YCOURTN

17) <@ 7da caie aualea, 98 NATIVE @ed EVITAN aiesa saie 62108, 6062 COUNTRY e Q 62 QIaiea Fad 6QIQ,
QQl 99 7

A) YRTNUOC
B) YTRUNCO
C) YURTNCO
D) YCOURTN

18) In the following questions, mark:

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

What is the total weight of 25 chocolates? (the chocolates are of the same size and weight)
l. 1/3rd of the weight of one chocolate is 8 grams.

Il. The weight of 20 chocolates is less than half kilogram.

»+ 1 echofworld.In

B) 2
C)3
D) 4

18) QOINGYC ggtesa 66 9ag :
2. 96 Y4 | aruia AR caIg A628 26T |

a@ 994 Il 9gda analia QR caqlg A62a 26T |
q. 98 T4 | ¥ || aeog 9eId H218e 6069 ANAIQ AR 629 AN AF 26T |

¥. 98 Q904 | ver |l anag 9eI0 F218e 6069 @ ANAIQ AAQ 69a! aIet adyg Q6< |

983 QERICASA EAIG BRR REQ ? (oemem%l@Q AR AR I BRAR)
. 66151 G6RIENE: BRAQ IR QOIAFE 6208 I gIF |

Il. 908 ceqlenca BRR 2l FEAIFING 29 |

A) ©
B) ¢
c)m
D) ¥

19) If Raghunath is standing with his hands stretched and his right hand is facing towards south,
then in which direction is his back facing?
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A) East

B) West
C) North
D) South

19) 0@ agela 8 210 F9IQ @F 02 2R3 Y OIF IR 26 AFE UG AT, 6069 OIF A8 6R4 210 QIad ?

hich Techofworld.In

B) ada

C) eaa
D) @&e

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

Is the number X a multiple of 15?
I. X is a multiple of 10.

[I. X is a multiple of 5.

A) 1
B) 2
C)3
D) 4

20) FIRYL 94960 536 @03 :
0. 96 ARQE | aruia QAR saeIq Asaa 26T |

9. 26 Y4 Il vgdal anaie YA caelg asa 26T |
q. 98 34 | v || eeaq 9eI0 H21Te 6069 ANAIR AR 6291 Al AYIG 266 |

¥. 98 Q94 | ver |l aeag 9eI0 F21de 6068 & AN RABQA 69a! I adug Q62 |
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A) East

B) West
C) North
D) South

19) ad egela 5% 210 daia 9 O2I 621083 Ie* OIF QIRIE 210 PB4 2IeQ &8, 6069 OIF a8 694 2I1eg Qias ?

i Techofworld.In

B) @fa
C) eaa
D) @&

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

Is the number X a multiple of 157?
I. X is a multiple of 10.

II. X is a multiple of 5.

A) 1
B) 2
C)3
D) 4

20) YANYL ggeeasa 836 @09 :
2. 96 @QQE | anQua RRQ c2eIq A62a 2T |

9. 9@ QR4 Il vgdal anaiia AR caelg A6ae 26T |
a. 9@ YA | e || anag 90 FUES 66069 ANAYIR AN 699! Al AdYIg 266 |

¥. 98 QA4 | 9er || aeag 9ei0 F2Ide 6060 @ ANl ARQ 62l alst adig g6< |
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el X, e8 @ QEIOR 2es @7

. X 6208 ¢0 @ QORI

1. X 6208 8 @ QEOR |

A) €

»: Techofworld.In
D)x
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) According to idealists, which of the following is one of the main aims of education?

A) Intellectual development
B) Physical development
C) Self realization

D) Social realization

21) ARIQIATF 2AQAIR, FINYS ARIQ 62T FAIR IR Y QER4EY 26T ?

A) 64laQ 301 TeCh OfWOrId ‘ I N

B) qi01@e aai4
C) 2161 6@
D) aiqi@e el

22) A teacher ensures that she is with her students during their emotional ups and downs and is in
continuous conversation with the students using positive language skills and discussion. This skill is

referred to as

A) Training skill

B) Teaching skill
C) Negotiation skill
D) Negative skill

22) @66 20Q IRN6 @08 64 6Q OIF BIRAIREA VLYREE! TR B AN 6291 AAAER ARER QBT IS ARAIAR NV VG| 9°

ACRISR! AIUFEA BIRAIRT AT0 702 QIFINIU @03 | 9B 67169 6QIR QRIAN |

A) 19 6qlaR
B) dQIQie ealae
C) 9&In8l 6al6@
D) *@IQIe 6lae
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23) Which of the following agencies is the first agency of education for learner?

A) Society
B) Family
C) School
D) Peer group

23) AORge AU 6998 JRILE AR 9aA d8I Qal ?

A) Qqie

B) adQia

C) Qauieg
D) Qien a1t

24) Wood's Education Dispatch while developing comprehensive plan for the spread of education in
India suggested English as medium of instruction for which level?

A) Secondary school T h f |d I

B) Primary school eC O WOr " n
C) University

D) Pre primary school

24) Queose d8I0 gAe QIR 996 6AI9R! 920 *AINIRZQl ANAER RO 9l FANS 624 29 IR SRR FVQ ARIA AR AAIAE
€Qaam! ?

A) arife Gayea

B) gi2de dauea

C) fq8auea

D) 91 gizfie dauea

25) The most effective lesson plans have

A) Three key parts
B) Four key parts
C) Five key parts
D) Six key parts
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25) aQ0IQ gRIQEIf! AI0IEANRIYFRR 121 088
A) G6R15 Qeti 2re
B) Q6918 Qa4 2re

C) Ared €16 24
D) 826 qet zre

26) Which of the following games is good for revision before examinations?

A) Sorting and classifying geometrical shapes in pre-school
B) Group wise quiz

C) Treasure hunt

D) Total Physical response

26) 59A40 689goe AUQ 6946 aaial 9Q gRIQR aldl aRn ? T e C h OfWO rI d g I n

A) 99-3Ra60 SINGR AREYER ARIQ Sl & AFIAa8 @Gl
B) 69191 2QQI1 Q@9

C) 680Q 2°Q (94ia dei0)

D) a9Qia aI01ae goqal

27) A teacher observes that she has a lecture which requires lots of verbal speaking. Which of the
following techniques would be appropriate to seek the attention of the students?

A) Using a power point to convey content
B) Using a simple lecture method

C) Stimulus variation in speech, posture and gesture during the lecture
D) Asking students to do the reading in groups

27) 966 99Q 6293 60 CITR IQ 9RO, AT 6RS 6FYR 2l AR AN 960 | HYRYE JIYES AUQ 696E RIS QF
RS Q6 QAYS 629 ?

A) 80999 990 QA9 aiel e geQad AIGIR ANEQ eeeie
B) e aae eqel 08 eieeia @QQ

C) eqel anasa e9ey, §6 e aaaaiea agie @ AACAIG ARSI
D) 218AIeq 64IR16R aAFQ AR @B
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28) Adaptive Expertise is important to be a good teacher. Which of the following teachers has
mastered adaptive expertise?

A) A teacher finds that her class has just come back from playing cricket. She asks them to do a
task on angles using the angles of batting.

B) A teacher finds that her class is very noisy because of the singing competition. She bribes
children with time for practice if they do their maths. She allows children to go in groups.

C) A teacher finds that most children of her class go home during the last games period. She
gives them a lecture about the importance of games in life.

D) A teacher finds that children do not eat the mid -day meal, she deals with the topic of nutrition
in the class and advises them to eat healthy.

28) @66 0 d9@ 6291 AIa ALY ARG FRQ4 62IRAN | FIAYE FIRART AIQ 694E QYR ARRC! AR 2A8F ?

A) @64 38R RI5QIQ AINER 64 QIF 65810 F6R6 66RA 0IQ 6Td 2ITL3 | 6Q NG 6RIE NMRLIQ AF 6R1G6R IR QMY Y
6Q019g 923 |

B) ®e¢s 9 K168 6Q 6160 gF6AITOl 62Q OIF 6441TR 920 6QIRIRPQY 28| AQ 6QAIER 980 A3 6069 AN AR 6Q
RIAIRE Are §28 | 6Q ARINIRG @R ARIQ 2600 Q2T |

C) 64 83@ Q63 64 OIF 6SRQ UYRFY TR 66T 66IR AN AACR ARG AUS | PIVRER 64RA A2Q FTAEQ 62 6AARY @
990l 9QIe @a8 |

D) 66 38@ AIR6A 6a TAAICKH RIQ 6AIRE HAS QIT, 61 6946169 60198 F9A A2 QUMY RO IS 6ATNRT AIFA SN QY
aqed @213 |

29) The Central Institute of Educational Technology is an institution under which of the following

organisations? TeC h OfWO rI d P I n

A) NCERT
B) UGC
C) ISCE
D) AICTE

29) 694IR ARASIY AT 696RIEAIT 6B ATOR FRIQ LI 2RUIAER QI IR AFVIR 26672

A) 9QAa2IQE (NCERT)
B) 963 (UGC)

C) 2124q9@a (ISCE)

D) w21ed5a (AICTE)
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30) Which side of the brain is responsible for critical thinking?

A) Middle

B) Right

C) Left

D) Both left and right

30) aaia &9l AR 1390 6QQ Alg AU ?

»= |echofworld.In

B) @ialé

C) @i
D) @98 QA 4&* QI214
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) G618 AIQ 6RRE 9@ 29 IQ AF?

A) @
B)
C)a
D)s

32) ‘g8’ 2aQd 4926 1@ 92 QU |

nes | @chofworld.In

B) G9Ige
C) @8ge
D) gevae

33) 63QuA1I6R 21 U YA F6m — M0IER U’ @ gRIQ FAIAR ?

A) aede
B) aiqde
C) adig

D) aqaidal

34) ‘23ge’ 9ra aQ1oIERINR 99 QIS |
A) Tidsie

B) zssie

C) Gealde

D) a6@e
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35) gR+aAR="

A) sa1ee
B) aiea
C) gee
D) ge

36) SIRYS AR 67Q INYFR 69T INER ABHS?

A) aidt

B) 21aa1
C) aisae
D) arqugt

37) ‘@ 1@ Me2ie QLIRS 20Ad g9 4r5] QI8 |

v Techofworld.In

C) ueee
D) a§iqie

38) ‘uagia 299’ @ A48 FQYUR QFE] SRR |

A) 2633218

B) @la quIQ ¢4 Qg
C) 949 aide

D) a¢ 6@l

39) ‘Aauen *8QI'ad Q48 FQYRI QFE FQi |

A) @@ geilal
B) & AL
C) s4IF @@Ql
D) 42 a9l
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40) 'QI000Q’ @F6m @6 9 ?

A) gm ae
B) ae

C) qiay
D) G

41) ‘FaQe’ 9ea faQleIdsIe 89 QI8 |

A) F9%e
B) Uewa@e
C) @q8e
D) adg

42) a9 90960 A @ 1 6291 PR 699 AR ABGG?

vee Tachofworld.In

B) aiaq
C) zi6q4
D) ge

43) ‘aqd’ adea ‘QaI’gea 62196 606 9aQ QI8 |

A) g2l

B) aid@a
C) ceaal

D) ac@ell

44) F69IB FRIQ 6796 AFRAE TR G]IF?

A) cgam
B) ge
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D)

C)a
D)y

D)

45) ‘0Q’ ara AAILERRIR IR 6RY 1D |

nee | @Cchofworld.In

B) @ane
C) Rae
D) A&l
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) Which of the following equations has x = 2 as a solution?

A)3x+2=8
B)4x-8=9

C)2x+4=7
D)5x-=9=12

46) 39Age ANRAEFPR ARIQ 6RUER AL AR X = 2 28] ?

A)3x+2=8
B)4x-8=9

C)2x+4=7
D)5x-9=12

47) What is the centroid of the triangle whose vertices are (0,3) (5, -1) and (1,1)?

nea | echofworld.In

B) (2,1)
C) (0,2)
D) (2,0)

47) 4@ 3900 aIe6RY 6266 629 aIRie @I 62@8 (0,3) (5, -1) e (1,1)2

A) (1,2)
B) (2,1)
C) (0,2)
D) (2,0)

48) Which is the largest number in the options, that divides all the three numbers 3,400, 2,304 and
5,248 without leaving a remainder?

A) 4
B) 8
Cy12
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D) 72

48) Geaq@e FIRUIQ cad QIRE el , a2l fea1d el 3,400, 2,304 e 5,248 q aia G2 6 67163 AIG6HS Q6201 ?

A) 4
B) 8
C) 12
D) 72

49) What is the interest earned, when an amount of ¥ 4,000 is invested under simple interest for 6
months at a rate of interest of 10%?

A) 100
B) Z 200
C) 300
D) % 450

49) 10% Qu 2196a 6 A1 aiel aeequea, T 4,000 376010 @IG6R Y860 QA 6R60 629 ?

neoo | @chofworld.In

B) 200
C) % 300
D) % 450

50) In a class of 96 students, three-fourth are boys and the rest are girls. How many girls are there
in the class?

A) 23
B) 24
C) 46
D) 72

50) ¢ @4 2108IQI& 646169, §F-0Qdrd 62088 QPR IS TR 62083 AR | 6062 64416Q 6260 R4 AP 23 ?

A) 23
B) 24
C) 46
D) 72
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51) A circle with center O circumscribes an equilateral triangle ABC. If D is the midpoint of BC, then
what is the ratio of OA to OD?

A) 1:3
B) 3:1
C)1:2
D) 2:1

51) 69 O Q2 695N 9@ ANRIZ Gee ABCQ 909@ @6a | 9@ D, BC @ f:IRIG 263, 656 OA to OD @
AQAIQ 6R6E 6297

A)1:3
B) 3:1
C)1:2
D) 2:1

52) The L.C.M and H.C.F of two positive numbers are 90 and 3 respectively. If sum of the numbers
is 33, then what is the difference between them?

»s  Techofworld.In

B) 3
C)1
D)0

52) 9af URIAR craia AaIg e aaig aagen 90 ver 31 9@ THIQFa ANG MM 621N, 606a QAR F1IEA Y aieiey
E@E0 62 ?

A) 5
B) 3
C) 1
D)0

53) If the selling price of an article is 60% of the cost price, then what is the percentage of loss
incurred by selling that article?

A) 20%
B) 30%
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C) 40%
D) 50%

53) 0@ e TN 790 g 24 JRIe 60% 621R2IN, 6069 AR ATAN RO AR 6R60 F0RG! B 621 ?

A) 20%
B) 30%
C) 40%
D) 50%

54) If the duplicate ratio of 2:3 is (x+4 : 5x-2), then the value of 'x' is

A) 3
B) 4
C)5
D)6

54) 0@ 2: 3 a fen 2900 6208 (X + 4: 5x-2), 6062 'X' @ FIIR 6208

»s | echofworld.In

B) 4
C)s
D)6

55) The set {x:x is a real number and 1 < X < 3} can be written as

A)[1,3)
B) [1,3]
C) (1,3]
D) (1,3)

55) 696 {e:@ 9@ Q1Y QG 9e° 1 < X < 3} @ I€ A6 & 6A¢l AR AR

A)[1,3)
B) [1,3]
C) (1,3]
D) (1,3)
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56) What is the value of the given expression after simplification?

Expression: (V1089/25) x (625/N9) x (V16/N25)

A) 275
B) 250
C) 220
D) 175

56) <@ 20R1a0d a6 g 283 FIIR 6260 629 ?

26ed : (V1089/25) x (625/N9) x (V16/V25)

A) 275
B) 250
C) 220
D) 175

57) What is the equation of the straight line which passes through the point (2,-1) and is perpendicular
to the line 3x + 2y - 5 = 0?

na--7-0 | @echofworld.In

B)3x-2y+7=0
C)4x-3y-7=0
D)2x-3y+5=0

57) 4@ 20060¢Ia AMRad @4 629 IRl 72 (2, -1) sea aiear 3X + 2y - 5 = 0 6adl 926 QA 621QaN ?

A)2x-3y-7=0
B)3x-2y+7=0
C)4x-3y-7=0
D)2x-3y+5=0

58) The ratio of the present ages of Alex and Graham is 3:5. After 5 years, the ratio of their ages will
be 2:3. What is the sum of the present ages of Alex and Graham?

A) 20 years
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B) 30 years
C) 40 years
D) 50 years

58) zieng 9 gIRINGR @0AIRa 90Aa 20 628 3:5 15 ad 06Q, 6QANIRE QAR AQAIE 2:3 629 | ZERF I FIRINA FCAIRR
QAAQ ANE 6Q66 ?

A) 20 ed
B) 30 ad
C) 40 ad
D) 50 «d

59) In a survey of students, 125 students like orange, 118 students like mango, and 117 students
like pineapple. 60 students like exactly two of the three fruits and 20 students like all the three fruits.
If 70 students like none of the three fruits, then what is the total number of students surveyed?

nx=e 1 echofworld.In

C) 350
D) 400

59) sigries 206a 621R2Q1 1@ A6LTE6R, 125 4 8Ig @0l 0ae @ad, 118 81g 21 ¥e* 117 818 AQ8 aar @ad 1 60 4 818
6018 e MIQ a6 ve* 20 96 818 12 F6AIT AR a9 AR @ad| A8 70 R4 8IQ 56918 TP MUIQ 6FITT aAe RAB QIF, 6069
aseina RAAIR Y9I sigaieea AFEAS A 6Q6S 2

A) 260
B) 330
C) 350
D) 400

60) How many numbers below 100 have exactly 5 factors?
A)5
B) 4

C)3
D)2
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60) 100 Q @0 626016 T AN S & aqIQ 28 ?

»s | echofworld.In

B) 4
)3
D) 2
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) Which among the following options refers to "Green House Effect"?

A) The tilt of the Earth changes the amount of solar energy the Earth receives
B) Life on earth exhales gases that warms up the atmosphere

C) Certain gases in the Earth's atmosphere trap the Sun's heat and warms the Earth
D) Ability of cloud to scatter electromagnetic radiation

61) FQRYE FRYER NUQ 6RET “gIP 1A AETQ” @ T R6Q ?
A) 9281 @@aReel QI0dQ Fgasl IR AIRIER AGRER 4
B) 9a916Q 1eq NI 760 29 QIR AIFALRY G0N A2

C) gaeia @1gaensa 6a6ee auIa gdia aRIAQ 6aIEHY I&° GaR1Q F0A @6Q
D) GQie-QAaa GReaq G50 @aql A AR FAG

62) A form of mass movement in which rock and debris moves rapidly downslope under the influence
of gravity as a result of failure along a shear plane is known as

A) AvalancheTeCh OfWO rld a I n

B) Meander
C) Playa
D) Landslide

62) 1@ Q4I? AR Q QA 6QLYER FRI FAIRER FTRG! 62¢ FRIFTIIR IAIER TAR IL° ARTRI §S 96Q
0Rq e, 9Iq QRIAN

A) guiegie

B) fiqeq

C) qal

D) gaee

63) How many times was National Emergency declared in India, so far?
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A) Once
B) Twice
C) Thrice
D) Four

63) 910e6a YAIS 626020 RIGIG RQAIRINIR AGFE 62ITEI QARSI ?

&9
D
®
D

2
D)
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e
2}
D

(@]
D)
)
o
D

O

64) Which of the following four Vedic texts is known as "The Veda of the Chants"?

aroea | €CHOTWoOrld.In

B) Samaveda
C) Yajurveda
D) Atharvaveda

64) 367119 SI6QIT 670X G2 AUQR 624G "6HIAA 692" AIYEA FEIGEI?

A) QeI6QQ
B) aqeqa
C) agede
D) 2121969@

65) The First UN Conference on Human Environment was held in

A) 1986 at Stockholm
B) 1986 at Montreal
C) 1972 at Stockholm
D) 1972 at Montreal

65) fIee aficed aea fde FIBTAQ gan ARRR! K0IEa LQTFE 6RIReM!

A) UMY ARERINER
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B) e¢ro ergaum 6o
C) 299 aQ6RIN6R
D) et9o9 raaum 6o

66) The imaginary line that the scientists use to divide Earth's atmosphere from space that is
approximately 100 km above sea level is termed as

A) Karman Line
B) Newton Line

C) Karl Line
D) Walter Line

66) 92a1 QIYLRY FLIRIER AT AR UIR IRFACER RLIQ FQAR| FER! 636! AIRI AT ARKOIQ YIS
100 QeRIFEQ AREQ 21N, QI QRIAN

wesaeass 1 €CHOTWOTId.IN

B) queq aIag
C) QIR QAR
D) gine g

67) Who is the custodian of the Constitution of India?

A) The Lok Sabha

B) The President of India

C) The Prime Minister of India
D) The Supreme Court of India

67) 9100Q QUGS QER @4 ?

A) 6RiQasl

B) 9I90a a1gad

C) 91069 guIeaa!

D) e1a6q a6sie AR

68) On whose advice can the President declare emergency in the country?
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68) QAT QI AQUAEER 624960 FQARINR AAFE 62196 FEAIRER ?

A) Q@

B) quigaan
C) Q31 9Q8Q

D) Gea

69) The imaginary lines of longitude that are used to locate a position on the surface of the Earth are
also known as

Jraaee 1 €CHOTWOTI.IN

B) Grids
C) Meridians
D) Perpendiculars

69) aidal @ eacl 6o Q121 QAN QIR IQ YR CHIFAI AN 196 249, FIF YRIAN

A) QAI86a4I A2
B) 1@

C) aude casliaqe
D) zigafie

70) Rowlatt Act was passed in which of the following years?

A) 1918
B) 1919
C) 1921
D) 1916

70) GqRde edg@e NUQ 6RVTER CRAINIC 2IQ AIA 62ARAR! ?
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A) eeer
B) ecec

Cj wese
D) eces

71) In the history of medieval age, the 'Ashta Pradhan' was the official council of which of the
following Kings or Emperors in India?

A) Chandra Gupta Maurya
B) Shah Jahan

C) Shivaji Maharaj

D) Ashoka

71) QRIGAIE RFLIA6R, NS FIRYS QIS ¢l AFICAINT FRIQ 69Q ATAER A} UL’ AARIAT ARTR YRI?

v 1 €CHOTWwoOrld.In

B) q1g @IeIq
C) dQix1 aIQle
D) 216819

72) Which Conference of Parties (COP) provided approval for Gender Action Plan and plan for
engagement for local communities and indigenous people?

A) COP 23
B) COP 21
C) COP 25
D) COP 16

72) 629 212 e (A60) Aaede ANIQIIR 6AIRR! AR AFEAIRR I8 A3 1 JLIA ARQIG e RIS IR 6AITAL Al
AR 90 @68 ?

A) 96 9m
B) Qdsd 9e
C)dea 98
D) qed e9
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73) Which of the following options is TRUE regarding the The Seventh Schedule of the Constitution:
Union List, State List and Concurrent List?

A) Union-98, State-59, Concurrent-47
B) Union-97, State-66, Concurrent-47
C) Union- 97, State-66, Concurrent-52
D) Union-98, State-59, Concurrent-48

73) QAuIee AgA AQYE1 ANNER FIAYE FRAYER AUQ 6REE AGY 266: 602 CINRI, QIR GINRI I ANFE CIRGI ?

A) 692 -¢T, QISY -8, AARE -¥9
B) 682 - (9, QI§Y -99, AARE -¥9
C) 692 -¢9, QI -99, AARE -89
D) 682 -¢T, QIS4 -8¢, AAJE -¥I

74) To which direction the pressure belts of the Earth will shift, when the sun is overhead on Tropic

of Capricorn? TeChOfWO rld " I n

A) 25 degree S
B) 25 degree N
C) 5 degree S
D) 5 degree N

74) 76 @15 a06a 94 218 62IRAER YU 69N 69QYER 699 Fag QIRAIN ?

A) 98 Gg1 &
B) 98 ég1a
C) 8 @gi«
D) 8 Gg1 @

75) In which year did the Muslim League first gave the call for a separate state of Pakistan?

A) 1941
B) 1942
C) 1929
D) 1940
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75) 62Q @d afa R gasa 0|§g|9? ARG QR 6201 AR QYR QRYEK ?

+ 1 €Chotworld.In

B) ¢ ¢¥9

C) ee9¢
D) e¢¥o
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following reaction produces silver mirror and used as an identification test?

A) Aldehydes with Tollen's reagent
B) Aldehydes with Fehling's solution
C) Ketones with Tollen's reagent

D) Ketones with Fehling's solution

76) GeAge gogal AuQ 698 QUl 9dE QYRR F6Q I U@ AASH ANIAI AR QLS 47

A) 6916RRG A6 S ATC ANEARGA
B) 6T2qae agiar ade uediaea
C) 6516RR& Gr66°6 A26 66619
D) 602Rae Aiar AZ6 6R66Iq

77) Which of the following group solid elements can be doped with Ge to obtain p-type
semiconductors?

o 1a Techofworld.In

B) 15
C)13
D) 16

77) 56918 FIQ 694 661Q1 RO AUIARYERER P - GRIQ 62FREYQ AIQS! sl ¥ 986 6010 FAARAIGS ?

A) 14
B) 15
C)13
D) 16

78) A vector A points vertically upward and vector B points towards north. The vector product A X B
is

A) Zero
B) Along west
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C) Along east
D) Vertically downward

78) 1R Q49 90R 9 A QAR AGQ (e FA8 1e° T8 95R 9g B @8 2gq (e 248 | A58 A X Ba @QI@
6208

A) ga4

B) adia 2109

C) ge 2Ieq

D) Qfe QIe6a oF 21e]

79) The and are non esential part of flower.

A) Androecium and gynoecium TeC OfWO rI d B I n

B) Sepals and carpels
C) Sepals and petals
D) Sepals and gynoecium

79) ae 6208 AR 2RIRNYR 2rd |

A) 60 e FerIdac
B) saaiq & @ledaa

C) saaiq we* 6099
D) 6Qaiq ¥e° @6r@aa

80) Which of the following is a morphological adaptation of halophytes?

A) Presence of salt secretory glands

B) Presence of thick leathery shiny leaves
C) Presence of water stomata

D) Presence of mucilage

80) 39Qge MIQ 684T 6207 ACAITIAYA IR ACTCARIIR ARIEYAR ?

A) 26 99 9396%a aags
B) 69161 67161 002 age 2agé
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C) aiéi 6’IQ1e1e aags
D) 6ea @agd

81) Which among the following products are formed when chlorine reacts with hot and concentrated
Ca(OH)2?

A) Ca(ClO2)2 and H2

B) CaClz and Ca(CIO)2

C) Ca(ClOs3)2 and O2

D) CaClz and Ca(ClO3)2

81) sqde aae we ararsgsee Ca(OH)2 ade godal anlcaes d9Rge QQIQ AuQ 6R4d Q8 94 ?

A) Ca(ClO2)2 and H2 TeCh OfWO rl d B n

B) CaClz and Ca(CIO)2
C) Ca(ClO3)2 and O2
D) CaClz and Ca(ClOs3)2

82) What will be the viscocity order of the X, Y and Z aliphatic alcohols having two, three and four
OH groups respectively?

A Z>Y>X

By X>Y>Z

C)Z=Y=X

D)Z> X>Y

82) aaigen 9@, 67 v af 4 6a191 2RI X, Y v Z 2RTITR 2NCRIAYERR AQE! @7 @'8 629 ?

AZ>Y>X
By X>Y>Z
C)Z=Y=X
D)Z>X>Y

83) From the top of a tower, a ball A is dropped and another ball B is thrown horizontally at the same
time. Which among the following strikes the ground first?

A) A
B) B
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C) Simultaneously A and B
D) Depends on the masses

83) @ GIGIQ QAQ 6915 AR A ARITRI 9Q° AFIF AFANER URY IR AR B AAIBAIR QULER T IR | 6296
ARIQ 6295 GeI6r PAER 9§

A) A

B)B

C) 9@ QNa6Q A 9Q° B

D) 9gQ 296 3eQ Q6a

84) Ciliary membrane is continous with the

A) plasma membrane TeCh OfWO rI d . I n

B) cell wall
C) nucleus
D) flagella

84) w2l 986 IR 6762 QIO 26E

A) QI8! 6968@
B) 6<I8 gie1a
C) P399
D) qeon

85) A fine network of proteinaceous fibrils that traverses the whole nucleus is

A) nucleolemma

B) nucleoplasm

C) nuclear matrix
D) nuclear envelope

85) 6gI6a1da TInGQQ I@ O 629GIF QIR ANY MFAA] AN AR

A) YQBAA
B) fiq8qiea
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C) uede MER
D) R432 99609

86) Shade loving plants are called as

A) bryophytes
B) heliophytes
C) sciophytes
D) hydrophytes

86) a1a 69 @8aq QelaN

»eoee 1 €CHOTWOTId.IN

B) eedeaiag
C) dsaieg
D) 2Ie6@IaIag

87) What are the partial pressures of gases P (Pr) occupying 75% volume and Q (Pa) occupying the
rest in a vessel whose total pressure is 1.5 atm?

A) Pp = 1.135 atm and Pa = 0.365 atm
B) Pp = 1.125 atm and Pa = 0.375 atm
C) Pp = 1.25 atm and Pa = 0.25 atm
D) Pe = 1.1 atm and Pa = 0.4 atm

87) qua P (Pp) @ 2rée qa 660 62 Qivl 75% adaig ve* Q (Pa) 4@ aigea 91 aIg 2¢R @60 aIgik 6a1e ga 1.5 atm 2

A) Pp = 1.135 atm and Pa = 0.365 atm
B) Pe = 1.125 atm and Pq = 0.375 atm
C) Pp = 1.25 atm and Pa = 0.25 atm
D) Pe = 1.1 atm and Pa = 0.4 atm

88) A body is thrown vertically upwards with velocity u. The distance travelled by it in the fifth and
the sixth seconds are equal. The velocity u is given by (Given, g = 10m/(s"2))

A) 25 m/s

B) 50 m/s

C) 75 m/s
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D) 100 m/s

88) U@ Qg U 69616Q RIINIFER QA TENTRI | ABE IQ° AF 6A6RWEA 12! TIQ AT FAUAIRYS! G
QAR 1 696 U 6298 (T, g = 10mM/(s"2))

A) 25 m/s
B) 50 m/s
C) 75 m/s
D) 100 m/s

89) A type of meristematic tissue that is responsible for the growth in girth or thickness in plants?

A) Apical meristem TeCh OfWO rld & I n

B) Lateral meristem
C) Secondary meristem
D) Intercalary meristem

89) we gelaa 6nd6anITe 59 Aol ARAYFRR IL6A 98 @)l arel aid @it ?

A) Adeia 6adaa

B) MI6caIR 67QaA
C) 66a-@ia 671084
D) &reaaiaid 6AG6ad

90) Which of the following is a function of mitochondria?

A) Photosynthesis

B) Detoxification

C) Cellular respiration
D) Intracellular transport

90) RqRge AuQ 6Q4F ARETIAdaIa QIdY 2163 ?

A) 2I6RIQ T6qae
B) @6gdeaa
C) 6QIa1a1a g2
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1A 31 A 61| C

2B 32| D 62 | D

3|B 33|D 63 | C

4B 34| C 64 | B

5| € 35/A 65 | €

6 A 36 | C 66 | A

7B 37| B 67 | D

8| D 38|B 68 | C

91 A 39| A 69 | C
10| A 40| A 70 | B
11| A 41 | C k| B
12 | B 42| D 72 | A
13 (D 43 | C 13| B
14 | C 4| A 74 | C
15D 45| A 75| D
16 | C 46 | A 76 | A
17 | A 47 | B 77| €
18| A 48 | B 78 | B
19| B 49| B 79 | B
20| D 50| B 80 | B
21 | € 51D 81 | D
22| € 52| B 82| A
23 |.B 53|C 83| C
24| C 54| B 84 | A
25| D 551 A 85| C
26 | B 56 | C 86 | C
21 |G 57| A 87 | B
28| A 58| C 88 | B
29 | A 59| B 89 | C
30| C 60 | D 90 | C
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